Pre-Calc 110 bivision of Radical Expressions

(Yellow FMT Pages 63-64}

EXERCISE 3-4

A 1. Simplify.
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3. Rationalize the denominator
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4. Find the value of each of the following to three figure accuracy by
first rationalizing the denominator.
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5. Simplify by first rationalizing the denominator.
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6. Rationalize the denominator in each of the following. {All variables
_are positive real numbers.)
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7. Rationalize the denominator in each of the following and simplify.
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8. Solve the following equations, giving final answers with rational
denominators,

{a) 3x =2 (b) xv3=+2 {e} 3xVB=+10

{d) x(vZ—1)=3 (e) x(vB-+2)=3 (f) 2xv3~2=x+2



